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NEW QUESTION 1
Identify two implementation strategies of changed data capture provided through ODI Knowledge Modules. (Choose two.)

A. extracting source data to flat files
B. triggers
C. Oracle GoldenGate
D. before-and-after database image comparison

Answer: BC

NEW QUESTION 2
You need to create a Model that works with multiple underlying technologies. How must you proceed?(Choose the best answer.)

A. This works only for Oracle and Informi
B. This works only for Oracle and MySQ
C. Create a new generic technology to support i
D. Use the out-ofthe box Generic SQL technolog

Answer: D

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/projects.htm#ODIDG326) 

NEW QUESTION 3
You are using a customized reverse knowledge module. You want the execution to be performed in only the development data environment. Which statement is
true?(Choose the best answer.)

A. The execution should be done only on the development data environment, as long as the other environment is a mirrored cop
B. Only the production environment can be use
C. All environments linked to a logical schema can be used to reverse-engineer table structure
D. Only a Java engine intermediate environment can be processe

Answer: C

Explanation: 

(http://docs.oracle.com/cd/E23943_01/integrate.1111/e12643/create_rev_model.htm#ODID G227) 

NEW QUESTION 4
Which statement is true about defining more than one physical schema associated to the same data server?(Choose the best answer.)

A. ODI topology does not allow defining more than one physical schema for a data server; the associated logical schema would be ambiguou
B. It is possible to define more than one physical schema associated to the same data server, but it is mandatory to specify a different user to log i
C. It is possible to define more than one physical schema associated to the same data server, but you must flag the default physical schem
D. It is possible but it is better to avoid doing so because it is more difficult to define a logical schema this wa

Answer: C

Explanation: 
 (http://odiexperts.com/context-logical-and-physical-schema-how-does-it-work/) 

NEW QUESTION 5
Updates have been made to Mappings in a package. What must you do to ensure that the Production team runs a scenario that contains those updates while
preserving the existing scenario’s schedule?(Choose the best answer.)

A. Regenerate the existing scenari
B. Nothing, the existing scenario will automaticallybe update
C. Generate a new scenario and create a new schedul
D. Generate a new scenario and attach the previous scenario’s schedule to i

Answer: A

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/scenarios.htm#ODIDG470) 

NEW QUESTION 6
How would a Knowledge Module, that is required to perform an aggregation in a Mapping, generate the correct code? (Choose the best answer.)

A. The Knowledge Module must be customized because business rules and the physical implementation are strictly interlayed in OD
B. The Knowledge Module must be customized only for aggregation function
C. The Knowledge Module need not be customized because aggregation code is generated automatically by ODI according to the Mapping logi
D. The Knowledge Module need not be customized, but a variable must be used in the aggregate expression to generate the correct su
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Answer: D

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/mappings.htm#ODIDG1625) 

NEW QUESTION 7
Your package logic requires you to retrieve the status of the previous package step into a variable. How must you implement this?(Choose the best answer.)

A. Create a variable, useodiRef.getPrevStepLog ()in the SQL query in its Refreshing tab, and add a variable as a Refresh Variable step into the packag
B. Create a variable, useodiRef.getPrevInfo ()in the SQL query in its Refreshing tab, and add a variable as a Refresh Variable step into the packag
C. Create a variable, useodiRef.getStep ()in the SQL query in its Refreshing tab, and add a variable as a Refresh Variable step into the packag
D. Create a variable, useodiRef.getPrevStepStatus ()in the SQL query in its Refreshing tab, and add a variable as a Refresh Variable step into the packag

Answer: A

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIKD/odiref_reference.htm#ODIKD1237) 

NEW QUESTION 8
Which ODI Agent is deployed in Oracle WebLogic Server?(Choose the best answer.)

A. ODI Runtime Agent
B. ODI Standalone Agent
C. ODI JEE Agent
D. ODI Colocated Standalone Agent

Answer: C

Explanation: 
 (http://www.oracle.com/technetwork/middleware/data-integrator/overview/oracledi-architecture-1-129425.pdf) 

NEW QUESTION 9
You want tooverride the code generated by ODI and provide a custom SQL statementas the source of a Mapping. How must you proceed?(Choose the best
answer.)

A. Duplicate theIntegration Knowledge Module, add an optionCUSTOM_TEMPLATE, and set it within the Mappin
B. Duplicate the Check Knowledge Module, add an optionCUSTOM_TEMPLATE, and set it within the Mappin
C. In the Physical tab of a Mapping, click one of the source data stores, select the Extract Options, and enter the SQL statement in theCUSTOM_TEMPLATEfiel
D. Duplicate the Loading Knowledge module, add an optionCUSTOM_TEMPLATE, and set it within the Mappin

Answer: C

Explanation: 

(https://blogs.oracle.com/dataintegration/entry/sessionizing_data_with_match_recognize) 

NEW QUESTION 10
You want to modify the code generated by a failed Task and restart the session. How must you proceed?(Choose the best answer.)

A. Open the Task in Operator, go to Code, click Edit, use Pre-execution Code to edit the code, and save i
B. It is not possible to modify the code once it has been generate
C. Open the Step in Operator, edit the code, and save i
D. Open the Task in Operator, go to Code, click Query/Execution Plan to edit the code, and save i

Answer: D

Explanation: 
 (http://www.odigurus.com/2011/05/using-operator.html) 

NEW QUESTION 10
You are designing a Mapping. How are target and source tables defined?(Choose the best answer.)

A. Their definition is imported with areverse-engineering process directly from databases and other sources, but you must manually define all keys and constraints
existing on the databas
B. Their definition is imported with a reverse-engineering process directly from databases and other source
C. Forevery load the definition of the tables used, their columns and constraints must be manually buil
D. An external engine must be run to describe what metadata is needed for a Mappin

Answer: A

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/create_rev_model.htm#ODIDG234) 
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NEW QUESTION 15
Which two objects can be dragged to a Mapping?(Choose two.)

A. Variables
B. Datastores
C. Knowledge Modules
D. Reusable Mappings

Answer: BD

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/mappings.htm#ODIDG1560) 

NEW QUESTION 20
A. Add a new subscriber and edit the default Journalizing filter in your Mappings.

A. Drop the journal, add a new subscriber, start the journal, and edit the defaultJournalizing filter in your Mapping
B. Drop the journal, remove existing subscribers, add a new subscriber, start the journal, and edit the default Journalizing filter in your Mapping
C. Add a new subscriber, start the journal, and remove the default Journalizing filter in your Mapping

Answer: B

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/data_capture.htm#ODIDG285) 

NEW QUESTION 25
Which two statements are true about ODI web-based components?(Choose two.)

A. ODI Console allows administrators to edit users’ informatio
B. Enterprise Manager Cloud Control provides access to ODI data servers’ setting
C. ODI sessions can be monitored in Enterprise Manager Cloud Contro
D. ODI Console provides access to project and mapping detail

Answer: AD

Explanation: 
 (http://www.oracle.com/technetwork/middleware/data-integrator/overview/oracledi-architecture-1-129425.pdf) 

NEW QUESTION 27
Youdesign a package with mappings that consume data from journalized data stores in Consistent Set CDC mode. Which option represents the steps that must be
performed at the beginning of your package to accomplish this?(Choose the best answer.)

A. Add data stores to the package, set Datastores steps to Journalizing Datastore, and select the Extend Window and Lock Subscriber check boxe
B. Add data stores to the package, set Datastores steps to Journalizing Datastore, and select the Unlock Subscriber and Purge Journal check boxe
C. Add a model to the package, set the Model step to Journalizing Model, and select the Extend Window and Lock Subscriber check boxe
D. Add a sub model to the package, set the Sub-model step to Journalizing Sub-model, and select the Extend Window and Lock Subscriber check boxe

Answer: C

Explanation: 

(https://docs.oracle.com/middleware/1212/odi/ODIDG/data_capture.htm#ODIDG287) 

NEW QUESTION 28
Identify the name of the default WebLogic data source created for the Master Repository when setting up a JEE domain.(Choose the best answer.)

A. odiMasterRepository
B. MasterRepository
C. odimasterrepository
D. ODIMasterRepository

Answer: A

Explanation: 

(https://docs.oracle.com/cd/E23943_01/install.1111/e16453/configure.htm#ODING303) 

NEW QUESTION 29
Which tables created by ODI contain error records?(Choose the best answer.)

A. ERR$
B. ERROR$
C. ODI_ERR$
D. E$
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Answer: D

Explanation: 
 (https://docs.oracle.com/middleware/1212/odi/ODIKD/ckm.htm#ODIKD925) 

NEW QUESTION 30
You must send the same message in multiple packages to several email addresses stored in the same database table. How do you accomplish this by using a
reusable package step?(Choose the best answer.)

A. Create a procedure and add two task
B. The first one must have a Command on Source that reads the email addresses from the database table and stores them in a bind variable, and the second
must have a Command on Target that usesOdiSendMailto send the email by using the bind variable defined in the first tas
C. Createa Knowledge Modul
D. Add a task with a Command on Source that reads the email addresses from the database table and stores them in a bind variable, and a Command on Target
that usesOdiSendMailto send the email using the bind variable defined in the Command on Sourc
E. Create a counter variable that gets the total number of email addresses stored in the database tabl
F. Next, create another variable that selects the email addresses from the database tabl
G. Then, create a loop in the packages by using the variables and anOdiSendMailste
H. Create a procedur
I. Add a task with a Command on Source that reads the email addresses from the database table and stores them in a bind variable, and a Commandon
Targetthat usesOdiSendMailto send the email using the bind variable defined in the Command on Sourc

Answer: B

Explanation: 

(http://docs.oracle.com/cd/E21764_01/integrate.1111/e12643/procedures.htm#ODIDG408) 

NEW QUESTION 35
How should you define the Work Schema of a Physical Schema?(Choose the best answer.)

A. Use a dedicated schema such asODI_STAGIN
B. UseTEM
C. Use the same schema as the Data Schem
D. Use SYSTE

Answer: A

Explanation: 

(http://www.rittmanmead.com/2014/12/data-integration-tips-one-data-server/) 

NEW QUESTION 38
When Oracle Data Integrator (ODI) and Oracle GoldenGate are used together, which option represents the phases of an ELT process that Oracle GoldenGate
performs?(Choose the best answer.)

A. transform only
B. load and transform
C. extract and load
D. extract and transform

Answer: A

Explanation: 
 (http://www.oracle.com/us/products/middleware/data-integration/oracle-goldengate-realtime-access-2031152.pdf) 

NEW QUESTION 43
......
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